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physician fee freeze = n:
adoption of the budget resolution = y: democrat (151)
adoption of the budget resolution = u: democrat (1) Ug N Len
|’d SAANP 5 v

adoption of the budget resolution = n:
education spending = n: democrat (6)
education spending = y: democrat (9) br o @MM
education spending = u: republican (1) After pruning: ey (TAKE
physician fee freeze = y: _
synfuels corporation cutback = n: republican (97/3)"1
synfuels corporation cutback = u: republican (4) -

physician fee freeze = n: democrat (168/2.6)
physician fee freeze = y: republican (123/13.9)
physician fee freeze = u:

synfuels corporation cutback = y: mx missile = n: democrat (3/1. 1)
duty free exports = y: democ:.rat (2) mx missile = y: democrat (4/2.2)
duty free exports = u: republican (1) mx missile = u: republican (2/1)

duty free exports = n:
education spending = n: democrat (5/2)
education spending = y: republican (13/2)
education spending = u: democrat (1)
physician fee freeze = u:
water project cost sharing = n: democrat (0)
water project cost sharing = y: democrat (4)
water project cost sharing = u:
mx missile = n: republican (0)
mx missile = y: democrat (3/1)
mx missile = u: republican (2)




QUINLAN ¢ Now, this description does viclence to statistical
notions of sampling and confidence limits, so the reasoning should be
taken with a large grain of salt. Like many heuristics with questionable
underpinnings, however, the estimates that it produces seem frequently
to vield acceptable results.
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